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public class Customer {
private String name;
private String address;
private String phoneNumber;
ArrayList<Car> carList = new ArrayList<Car>();

}

public class Car {
private String model;
private double carPrice = 0.0;
protected int speed = 0;
private Customer owner;
public String getModel () {

return model;

}

public void setModel (String model) {
this.model = mode;
}

public int getSpeed() {
System.out.printin("You are going " + speed + " mph");
return speed,;

}
public void accel erate(int acc) {

speed =speed + acc;
}
}

public class Compact extends Car {
public final int num_door = 2;
}
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